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5|`G ! IMuI lJS<5 5;\N SZL pTZ VF5MP                                                                           s*f 

 

s!f A[ V\SMGL V[S ;\bIFGM V[SDGM V\S x VG[ NXSGM V\S 4 CMI4 TM T[ ;\bIF PPPPPPP K[P 

(a) 4x   (b) 40 + x  (c) 10x + 4 (d) 40x + 1 
  sZf ;DLSZ6I]uD x - 3y = 1 VG[ 3x + y = 3 GM pS[, PPPPPPPP K[P 

 (a) (0, 1)  (b) (1, 1)  (c) (1, 0)  (d) (1/3, 0) 
s#f x – 2y = 2 GM VF,[B y–V1FG[ PPPPPPPPlA\N]DF\ K[N[P 

 (a) (- 1, - 1) (b) (2, - 2) (c) (0, - 1) (d) (- 1, 0)| 

s$f ;DLSZ6 
𝑥

2
− 

𝑦

3
= 1 G[ 5|DFl6T :J~5[ PPPPPPPPP ,BL XSFIP 

  (a)2x - 3y – 6 = 0 (b) 3x - 2y – 6 = 0 (c) 2x - 3y = 3 (d)3x - 2y = 1 
s5f ;DLSZ6M 3x + y = 7 VG[ -x + 2y = 2 DF\YL x GM ,M5 SZJF ;DLP 2 G[ PPPPPPPP J0[ U]6J]\ 50[P 

 (a) - 4  (b) 4  (c) 3  (d) - 3 
s&f 3 JQF" 5C[,F l5TF VG[ 5]+GL p\DZGM ;ZJF/M 40 JQF" CTM4 2 JQF" 5KL T[DGL p\DZGM ;ZJF/M PPPPPP JQF" 

YFIP 

  (a) 40  (b) 46  (c) 50  (d) 60 

 s*f HM 
x

2
 = 

6

y
 = 3 CMI TM x+y = …………… 

  (a) 4  (b) 2  (c) 6  (d) 8 
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 !P ,M5GL ZLT[ pS[,MP 9x – 4y = 14, 7x – 3y = 11 
 ZP VFN[XGL ZLT[ pS[,MP 2x + 3y = 10, 3x – y = 4 

#P RMS0L U]6FSFZGL ZLT[ pS[,MP 0.3x + 0.4y = 2.5, 0.5x – 0.3y = 0.3  

$P A[ ;\bIFVMGM ;ZJF/M 70 K[P VG[ T[DGM WG TOFJT 6 CMI TM T[ ;\bIF XMWMP 

 5P V[S 8[A,GL lSDT V[S B]Z;LGL lS\DT SZTF +6 U6L K[4 RFZ B]Z;L VG[ V[S 8[A,GL S], lS\DT ~P 2100 K[P 

TM V[S 8[A, VG[ V[S B]Z;LGL lS\DT XMWMP 

&P V[S l5TF VG[ 5]+GL CF,GL\ p\DZGM ;ZJF/M 50 JQF" K[4 5 JQF" 5KL l5TFGL p\DZ 5]+GL p\DZGL +6 U6L 

YFI TM l5TF VG[ 5]+GL CF,GL\ p\DZ XMWMP  

*P A[ V\SMGL V[S ;\bIFGF NXSGM V\S V[SDGF V\S SZTF 3 U6M K[P ;\bIFGF V\SMGL VN,FAN,L SZTF D/TL GJL 

;\bIF D}/ ;\bIF SZTF 54 H[8,L GFGL CMI TM T[ ;\bIF XMWMP 

 

 

 

BEST OF LUCK 

 

 


